BS.5.12 (REAR CONNECTORS)

BS.5... SINGLE STATION SUBPLATE

Single subplate

210.5

(15 )| CETOPS5NG10 1 v
(12)]| t2'BsP q
rear connectors &
No variant J
@ Serial No. :

Weight: 2,7 Kg - Fixing screws M6x25 UNI 5931

BS.5.13 (REAR CONNECTORS)

i

125
185

No variant f
N Y

%/\/

K ©) ==t

RPN e

Serial No.

14.5

Single subplate - 1i020 - " L e |
(75 ) | CETOP5ING10 - 4{ y 42&% : L]
SEDJ s i :

)

Weight: 3,8 Kg - Fixing screws M6x50 UNI 5931

BS.5.14 (SIDE CONNECTORS)

Single subplate =

P Y
> 516
!
v
o o
B
.
o
- v

CETOP 5/NG10 TF i

]
26
#]10.5

N
)
T
-
—
"
\Y
Il

1/2" BSP
side connectors \

g

125
195
96
—=h
-
It I}
—
\V‘\V
I
It [}
[ ]
| I
1

VI

No variant

Serial No.

[
2|
N
&

Y

Py
-
I

Weight: 2,6 Kg - Fixing screws M6x20 UNI 5931

BS.5.15 (SIDE CONNECTORS)

Single subplate —n a P!:’_
_ 45 _ 42 . T
(5 )| CETOP5/ING10 - I EE -
ol I [ ©
(15 ) | 3u4"BSP e
i T
s \ s
ide connectors 1 . é}{y N
' ol IS
No variant S . ‘%,7 S
k= “‘ =4
(1) | serialNo. ' \;&?\g}«#
AEEEE L
© i ®©

Weight: 3,8 Kg - Fixing screws M6x50 UNI 5931

Vil e 20




